o
i
7
(
[ G- -
c
o 7
- O
c o
=2 >
0 =
T © 2
o 5 O
© T ) D m.d:
m T w @ -
[eh) (7)) (O] ()
o -2 © 3 F
© ~Q y O .
o — | £ c 3 £, 9
B e . ©.X% w5 o =
' 6 —m O R 2o =
- [ = 3%
S A-RANEN" 2 °8 £
1 o O 0]
AN\ C © O — AW. .T.”. ._l.., o
/ @ IS o= 8
= ek = o =
o 18 o IL E2 0
.m \ _._.lu ..falﬂ.w mv mE w2 D m
+8 ~ B R ERL
s 5 £ 220 =2 Je2
D ] B ~ o W Qv ~ @
7 — N
= 5 o5 % 23 02
© o Q@ S $ < O
© o O S w0
O
< 2 2 RT
.nlu < c =
L g 2 ..m s
2] ] -— f=
F\.luq O “._.I 5 ®) nﬁm +=
- ] n [} c
L |mm q.. (@] o < m.w -+
o] = - <D %
4 — &/
AN, L o / TS 0%
A~ et M \ @w 5 20
= \ L = 0
< / \ 52 s
J & / \ £ 350
Dz = 2 4 A\ EC &9
) el | \ , 9 ,m
+ | O ) © £ 0 T
P G W < Lm -0 D=
T~ O o F 5 !
A = =0 Wg
o £ <2
| K2
1




faY
\ >3

CONSTANT

\CAS AR A= 4 |

sion!

=
D

Vi

[«
.

P

OQOUH IBRILIN

WXUTLTT\TUU1

~

tratinne ! nf roactante and nradiicte

RIUM.

th

(Y}

Ul

Stoichiometric coefficients

.
N 'aro i1rrmmn

molar-cocone

A | |

o TVl GUTNTIOUCTIU AlUlio Ul Toaulalito dildu plruouuutlo
AllE

RE, but not on other factors.

-

DA THID

C1eduliVlio [dliC ITTipul tdliL.

uble-headed arrow is often used to show that both the forwar

A>3 U\1U v Aa vvlivuairivriviirinveoul
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